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ADDITIONAL MATERIALS

The use of a calculator is not permitted in this examination.
A ruler, protractor and a pair of compasses may ba raguired.

INSTRUCTIONS TO CANDIDATES

Usa black ink or black ball-point pan. Do not use gel pen or
comection fiuid.

You may use a pancil for graphe and diagrams only,

Write your name, centre number and candidate number in
the spaces al the top of this page.

Answer all the questions in the spaces provided.

If you run out of space, use the centinuation page at the
back of the booklet, taking care to number the guestion(s)
correthy.

Take z as 3-14.

INFORMATION FOR CANDIDATES

You should give details of your method of solution whan
appropriate.

Unless stated. diagrame are net drawn o scale.

acale drawing solutions will not be acceptable where you
are asked to calculata,

The number of marks Is given in brackats al the end of each
question or pari-question.

In question 6, the assessment will take into accounl the
quality of your linguistic and mathematical arganisation,
communication and accuracy In writing.
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8. 3
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10. 6
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12. 3
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15. 5
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17. 4
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Formula List — Intermediate Tier

L ]

Area of trapezium 2% (a + Wh i

Volume of prism = area of cross-seclion = langth
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1. Calculate each of tha following.
() 04x07 € MMI‘MGE I{"E{} =2% 1]
e 0% TF = 2-%  0-4x%0-F =03

(b 138-T45 == Tm'{d ;:Ln:.'c,::i"km"i Ty f""'"ﬂf"r-*'—‘:f [1]
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Fird 10%, |

20% of 70 is the same as 70% of 20 IC‘ ;afif.e (‘:".' | {a ' FALSE
f 4 1s X acior

is the same a5 - u-f 1 FALSE

A number is halved. - | .
The answer is d, and then this answer is halved again, _

This gives the same answer as dividing the original number TRUE FALSE

by 6. |

Dividing a number by 15 is the same as firsl dividing by 10 TRUE
and then dividing the answer by 5.

aof -

Pudi=t
mrri

Multiplying a number by 25 is the same as first multiplying EALSE
by 10 and then dividing the answer by 4, ‘

| 0=t 13 S

Space for working,

D.20%. 4 30 =14 F0%d Jo= ¢

Wi =qp. . k<%=
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o
&
;

Ch &l - R COvY -2 i‘ :
2. Circle either TRUE or FALSE TRUE of FALSE for aach of the Hlaw.ng Statsimants
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3. A'shop has 31 plant pats. ' Dnkino wns

/ Some are biue, some ara yallow and tha rest are rad ‘;;’:-—-—’
| Thera are fiva mora biue pots than yellow pots.

'L'-Thanamfnurtlmus as many blua pnlsasﬂﬂam amrﬂdpm;' :\Jr\j-l'p Wl ltﬁ'

Calculate how many pots there are of each colour, _Q%L-'C 7 Tﬂhﬁﬁ@ k
Blee = lpds. "ie.um o S ﬁ@l-" (@ UFL Glﬁr‘: i
.

Bl= 2x - si X ij Mot +see |, 4

4..',.'

74 ST L o 'L
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Kenerse. o co to {'f‘d 3" ”«:1
Blus 11;:? G- ([0 e

L|f
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g

& (a)  Writa down Mhmm sequentna ,
r"‘“‘*-* T :
1 ~3 10 71 12

X4 Seatpto. %.,?‘é
N4 =fx-20+x E— 47? i
= AR =20 e SO 20 o ¥ oy

FL.J Wl
jn*JE:'fj )y
e

Lok el !Fﬂ.pmbﬁm‘f‘ﬂﬂ e S o Py

M{L‘LJ{UQ (88 vamlkmia r’ﬂiw*jé;.:LMhW e ”"m:{
() Edmlﬂlﬂtha ‘expression @"S@Hﬂ' LIE +eirmas @).&{%

— .?_
{c) Uslng the formula 2T = M + 3K, find the value of Kwhen T=11 and M= 4.

Cawkshtdion. Rsmmmﬁ ﬂ,.ﬂ.tj Nadaes, fcﬂ— I

IIIIII el i

A= k+3k 92 =W +3
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5. Three red cards have the following numbers written on tham. s

2] [o] [o]

Four green cards have the following numbers written an them,

1) 2] (3] [4]

Ana g-ame the cards are turned face down. EX n’t ‘Lr; h“‘“’ :5
(A player chooses one red card and one green card at randum \ = .“ AQ t.*-,::LC_' -
*.__The player's score is the sum of the two numbers, 0 oo T W0

""'--___ | — g Cta koLt . Mui‘j
(s} Complets the following table-—— Yo O
Ladole
Score
s ["doo | (v) ") M3
Red L+ 3 T
care I S 8 . (lo)
3 4 5 5] 7
Prioalaibg 3| 1 | 2 | s | 4
2 |I | — I " |- 7
_._.-',_'L\,_.-., FL | -,--._:-_ [ !II-II!._'.' L '-. [ LA I- Grean c?rl-d AL { ; oh, L."J: & | tl_; : ir.-n F;E [
. |:'“' "I'I"""' ,'\-., g t':..l‘ll"l My ._l.-f
) A player Wlﬂﬁapflzeﬂﬂ'masmrg is more than 9, <—C Lo mmx::k =
Safira plays the game once. What is the probability that she wins a prlzﬁi' C[_zij 7
b <—Nowimniggeues U, Yoot
T2 < Tetad Mo outames. I h. "
JI.‘,'.l § fir - )
EP
fc) 60 people play the game once. =y
Approximately how many people would you \F?jfm lo win a prize? [2] b
- ' | 2%
(b@‘u_‘-_t = a0 Pﬂ—ffﬂ(’ I < - 1Y) apallonn...... e
'2— I:-El.i.n"i_
T 2 t it.r "+ b
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6. in this guestion, you will be assessed on the guali

ty of your organisafion, communication and
accuracy in writing, e

E

T5cm

A right-angled triangle BCD is joined to a rectangle ABDE, as shown balow,

2]

.
=

Cogan  C©

ladaol
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Becm

[5]
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Dhagram nol drawn fo scale

;CF(

| C :
thd IL-ut-.h‘H"f-*'iC(Q{;_ q“ﬁ‘ F

T 1

4

Wt de L need)

Te {_-..-i._:"'.t @ Tk

N,

Ir:" r .-'IL_.--
q:'J‘a:r‘,v":j. ~4

ST ey
The area of the rectangle is 45cm2. |f-.;1'-'-"._'-‘- pe (A U-:-}I .
Ciufsl g o3 fnﬁ;--' Wz !

Calculate the area of the ri Fr;'f L, A w e
e

right-angled trigngle.
You must show yourwORIE

Kies Tigmle = BxBxH o
. Au»j:m ' i bt Hon o dw&gi-mwt‘

¢’ g
i g ) H

A=t

(::; ELUJL. E{__FF‘_U‘

hoa ledangle 45 = Dx Widlh . (widbh is alse.

haiguk of o).
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7. _Solve each of the follawing equations.
a) %=10 W= D% W=S0
" —
Oppas e frCCaMl.....

H’\-lﬂiL LuLﬁLﬁ Aavides. hn o
.......................................... T o hﬁxw,,:f

el 13p—S=9+27 Ns wrkndon § on ot & dad
Ve balonc [ CﬂU&Ef all o ﬂ"l'"-{’uafil.’
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9. Write down five numbers that satisf allnfﬂ]ia following conditions: o
' 2 A s 6F B9
. ﬂkﬂyamai|h;hhﬁﬂﬂ1andﬁlﬁﬂu5ﬁ'ﬂ &-wntz dann all pagn lale
. mw hmamadmn wadua of 6. ke By
- hiawe
= Thz?;lmanaisraé F\\ ts\n"ubl*lf’—*fh J{J R J.:;{{_E‘ LLLUJ“C @}
Glalate — e HiGhant —lowent = corge !
bhe | -9 =9 oy )
e Tk g o5 kot ¢ mehmﬁ et 1
tstal 'E'—r i {j P owAly Eﬁrcr" o

Mopn =5 = Ttal 3 $= Tl Q.;*Eh_{b%ﬁ:j
Haw 10a) st

TEEae

Now sée ot ch }JOES (oadd f*f

24 [+ 6 ~ [3+9 =x
mMaSsing  Mo's =g nﬂ}iﬂhgﬁflﬂ ‘f’D
F;ugfl‘*ﬂi

I+ O+t + D + 8= 2F

msﬁafj No's = 10
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10. A regular polygon has exterior angles of 45°, Fad: ald ﬂblﬂgiﬁ”ﬂ l oy
m =

(a} How many sides does this polygon have? o &ﬂlﬂ

— B 2y =B & ade 3‘%}
LAY r.{ EL.E..'! - y Mﬂu

II_I,_—“ t-ﬂh"_'.'!i:'-t‘;él-‘-":i‘- ?‘""‘. o T Lt T et s i

o

_l
od,

A nls - g

=200 - __d-m‘i__ Marg ‘?

{b) Each side of this reqular polygon is 7om,
A gkelch of two sides, AB and BC, of the polygon is shown below,

Tem

Diagram nurﬂ'rawnlfu scale -
st Shawe nstueian mall

Using only & ruler and a pair of compasses, construct an accurate drawd hows
fhese two Elﬂ%‘fﬁrmn S

The point A has besn given, [‘W

You must show your sonstruction arcs. [4]
heame e Fen |5 — | mo

fﬁrmlﬂ. 10" o & Wran agee it 8 more pdir i

rﬂ
_p'al.-_i__L_L_.t_
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11. (g} The table below shows somea of the values of p = 2x" - 5x - 1 for values of x from I
—2104.

Complete the table by finding the value n‘f yiorx=-1 and for x=2. 112
m}_';n-l 1 Gale 1w X _If@;[?_:- e m&‘L

(_1 [ 1| (@) 3 4

fﬂ| =1 -4 —é 2 11

N,

X =2

y=2x%1- 5 | 17

E::a:lr'lnur

_.!.;tc

@

Y = 2(-) =s(-)-l — 2+45-1 = (g

Y= 2(2Y— s(2)-1 > B—10—| = ”*ti: e

g * - |
Ry A

.:r’

R A S R J

() -Dn tha graph paper below, draw tha graph of y = 2x* - 5x - | for values of x from
ok @
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X = nuunnJaen 1 wei {{J."_.‘l.‘

13 Long
Examinar
=Nty <=—3 ] anly
Draw the line »» = 5 on the graph paper. \ . ' .
fe) | line | bt graph pap Lj hera, 2enl e Ltru:?

Writa down the values of x where the line y = 3 cuts the curve y = 2x? - Sy — 1.
Giva your answers correct 1o 1 decimal place. 210

_'l"'qI

; el |!.I LA -

_E" It elC r Values of x are ‘_O q and _a‘”’ ’ {Et}-w,
AL Cla A LJ aSihege are _¢as. o § 1z (o= L!;'IL*E i
{d) Circle the equation below whose solutions a the values you have given in (). 1] LJ

26— Sy =0 I Sx-5=0
2l —x-l=0 2x1-3x+4=0

T
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A

Circle the correct answer for each of the Euth:wjng Etaterrrems. dn
L o ol o W L
kA i

(@) The number of possible uutcﬂurrm-s is [

J_,f—'— . =
2 i B ll\fj 24,

) The probability of getting a 4 on the dice and a tail on the coin is ([:]\ '

1 1 ) 1 1 : i
5 12__{ 2 & 24 -

{c)  The probability of getting a multiple of 3 an the dica and a head an the coin is [1] !;;'

] 3

1 1
8 2 2

—

Space for working:

‘) .0 IS e Ly A 1) % 0 I L . T
AT 2T &7 WT ST 6 yWekew! eath~
!_,.L {{,M ||"-,r'-. r| GJ-'L'Q.. ILLn,-f: K -ler".-l".I-‘_ J',Ix{

2.} —LLMW*: ..L!:t{.'ﬁ?.m-'vf% . (. 5 & SN

L), Look ot entomed alove  trare s Bl Hond
Sl ol e [L; o

Cymwbgtes st 3 ove B
3']1‘" .ﬂ-:_.}-[ _:'_ ,;'__J", WO g 5 ,r'+1.=..|'" .i:"'l[. J :_.'_
DL

|'

L

i G

K.
RS dnguer 9l

e o anced daon
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13. (&) Maka m the subject of the formula y = Em+‘,! nﬂ éﬂ,r”"'ﬁ-{—f Epjj'\ﬂ. ny:y

MeLQysE  oyace) O . ""f”"'-“j?"““‘j______ \-f
=k = fn -

T ﬁ_.f...f.'f_'ﬁﬁ_'_'ﬁ_ff_ff_'_'ﬁjff.._"___f___'fﬁﬁf_ff_'ffff_"'ﬁﬁ. e 'LE%

T mt_ﬂrﬂ mw fd-{-mg E}MFL M mj‘ .......
(b} Faclorise E:':1 ll'r Chonin .F 1"'45'1'

~@e 0 b (a=

14. Find, in standard form, the value of sach of the fulimﬁlg Ll .

(a) 7.5 = 108 o -i':t'u"'FlL Codeulat o st
5000 LJ*WJ XOXIO av = 1O+ 102kt
FSx10 —> F- S AIOXIO 2O U0 = |6 %102 FOC000

35 Guéqisgg 2500 ‘-:PS“OU:IT;{U"”#L

e,
ﬂm,hmd B3, fm't“p/__kﬁiﬂﬂj ..... pp I ’%

R L s ’/ :
(B} (23 % 107) + (B4 x 10%) f;lnﬂuhﬂi fumdﬂ Suﬁﬁr’_}# @? %@

| .1 Exlﬂﬁluﬂ[[} .

) ‘ﬂ “rxl"—mﬂﬂlﬂwfﬁ o
LAz +f-atwﬂc:* = bb3oo

;D:M'“:’fa.rjpf“ o fg,@,uj
GhSwer bacdl nte
Sténdowrd fﬁ“r”rwl. '

LT
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15. Eﬂ:hﬂldﬂﬂfa:qmlsnflengm&x+3ﬂm.
The perimeter of the square is 62 cm.

Iy i t'\._ . ) = ;
Fls -._-.-".,-a_;-l:j‘h‘{" By oeARy I ::"1. K

(1x + Iy)cm

- ¥ : ;
If' £ II :.! {.|! .-".-I"' Li |||| L l['.-"'\- _|-L-l|_ .e'-r i .:-'.h.;. j

Each ﬂdeufamgqj.;r octagon is of length (x + 2y)em.
The perimeter of of the octagon is 72cm.

J'r_ = -'-’a.:'f'{ LIS T L Adn Li H )

N slatimand W -f~'~-"*~-'i|'ﬁ‘-La':'f~"- nda ol Creadl O~

T, e
Use an slgebraic method to find the value of x and the value of v, pasr ¢ F
| ;-r'l.m.l HI i, :..:_:ll'l_n_.'-\._l

'fhl-’ h’,;r t'LJ

{Jfﬁ = ?,h—k.!}..l

) {:L'«.J'n-"l.-'-l""-.-l-u :)L t]__rr'ﬂ‘m b-j S'L‘LJQTh:'lL{_fJFJ
&

Sepe = A5 = Yo ">

T = B+ wi“ e e oy “tL >

@cr;; 3= ( ST ae P e
i) JJ %

En wa—“ﬁk‘ml ;.4.1'1 R _}rj = ‘f:f:-: -+ M’j "‘(;Lf,-f |

l:‘:-'ueJG‘;-‘i.Ju't-[__f. - fru o "; B 'm’LL: ong :'-—]r el _X_,_%{“ Ll
B e ﬁhf‘f ; | o (2 ) Chad e Ne's L.H_L_a,__e'a__'_:

“Examingr

only
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16. Alwyn cfien drives from Bangor to Cardiff. “ P fr” f'-“'.'J l'r"_l:l} - ."1 X%
He always chooses one of two routes for these journeys, . N
He either travels through Rhayader or through Hereford, | f A av !.*.a) e
The probability that he travels through Rhayader is 0-7, .

-.’{].f {-'L'_1J'rf]_}1'1

16

ametimes he decides lo stop for a break during his journey.
Hiz decision is independant of the route he takes.

ot

G

&1?" e

The probability that he travels through Rhayader and stops for a break is 0-42. fn{-_é,_ ht'& ;
e —— : ; ; J

fa} Complete the following tree diagram. HuS g If_lr-a_i: .._J;i..l/\{?ti q"rr [4] 3

e —— 5 V=T 9 Y ) o)

THINE. F % [ = 4y .:' T i-u:,Lr(J
tops for
Route Sm@%h
0 F s O- -o= O
: ¥ -2
Bs @) Z (TJ_,I miﬂa—;hﬁj

A ¥o ST | €4

Set 3 Hranches
o OFxol ST

=) - SLEr TL’LLL-!r {" D\d\ﬁf‘{
o R e

oXitd o 14 L

-

No (-4 %0 Y =02

ey,

prok.

{b) Calculate the probability that Alwyn travels through Hereford but does not stop l‘g;-?‘
[2

s L — S- ) ;-
= O 2 o R P
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7.

Wilemhesnrmaies,  Of A2 hant of wnnmnis [gnfes
Lois had 4 times as many marbles as William, but she has now lost 23 of thern r_
L4

Lots stil has more marles than William. - - |

g ) '1.{ Flia = O F M

Write down an inequality in tarms of # to show the above information,
Use your inaquality to find the least number of marbles that William may have.
Wote,. g alacha fo.. e 1E - e N

L%

nWidna dhas. I vardaleS . Seq s

i g -
S W N ) 5-’- N {(5"6?;7' w

S AR SAVIN - VL SR E: ﬁ‘]‘n#_.. Lﬂﬁ G 2 sz é

lets 2 Willkew ;
oHn—23 > ’f” /i%. ;
E,luuz L;U collacting all It?u 'ns S mane fg
“% ___________________________________ J oo I

'
4,

L_-U. I\ 'I"l-"--'-r'l..flk s Ve TN, me ”f?'- f;:;. <

N = (L4 0 IO

%}\

= ;__ -"‘-i:l.._ = i ]
- - ‘E- gx

ENDOFPAPER (- |1 (
'%’J ':f'f] (€, | et

nN=% 1’ o (eodl _v:.J,Lf
(valiolt) 4

l.
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